Further Practices


Further Practice 4.1A
Basic
1. 
5 identical bottles can hold 3.75 litres of water. How much water can 3 such bottles   

    
hold?
2. 
4 workers can produce 18 tables in one day. How many tables can 6 workers produce in one day if all the workers work at the same rate?

Intermediate
3. 
$2 worth of biscuits weigh 760g. How much does $3.50 worth of biscuits weigh? Give   

    
your answer in kilograms.



4. 
3600 ml of water flow out of a tap in 90 seconds. How many litres of water flow out of the same tap in 4 minutes?
Challenging
5. 
Madam Mas bought 1.5 kg of flour, 4 eggs, 800 g of butter and 500 g of sugar to bake a cake. 

    
The cost of the items is as follows:
· 1 kg of flour costs $1.20

· 10 eggs cost $2

· 250g of butter cost $3.50

· 1 kg of sugar costs $1.80
(a) 
How much did Madam Mas spend?

(b) 
Madam Mas decided to make 8 cakes. She sells 6 cakes for $20 each and 2 cakes for 

     
$25 each. How much profit does she make?

Further Practice 4.1B
Basic

1. 
50 workers can build a building in 30 days. How many days will it take 75 workers to  

    
build the same building? 
2. 
A bag of rice can feed 3 people for 12 days. How many people can this bag of rice feed for 9 days?   
Intermediate
3. 
Mr Tan hired 4 workers to paint his house in 9 days. However, only 3 workers turned up. How long will they take to paint the house now?
 

4. 
8 chefs can prepare a feast in 9 hours. How much time will be saved if the manager hires  12 chefs?

Challenging
5. 
A farmer needs to plough a plot of land. 8 horses can plough the land in 6 days. 3 bulls can plough the land in 5 days. The land must be ploughed in 3 days. The cost to rent a horse and a bull is $65 per day and $140 per day respectively. Find out if the farmer should rent horses or bulls to plough his land. Justify your answer.
Further Practice 4.2
Basic

1. 
Mike took 
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 h to cycle 6 km. What was his average speed in km/h?
2. 
A ladybug crawled 30 seconds at an average speed of 2 cm/s. Find the distance it 
    
crawled.
Intermediate

3. 
John jogs 2 km in 15 minutes. He then sprints 400 m in 2 mins. What is John’s average speed? Give your answer in m/min, correct to 2 decimal places.
4. 
Mahmud took part in a mini triathlon. He swam 1 km in 30 minutes, cycled 10 km in 
   
12 minutes and finally, ran 2 km in 8 minutes. Find his average speed for the 
   
triathlon. Express your answer in km/h. 
Challenging

5. 
Mr Lee walked from his house to the bus stop that is 300 m away at a speed of 
60 m/min. He waited for the bus for 7 minutes and travelled 25 km at an average speed of 50 km/h in the bus. Then he took 12 minutes to buy coffee and reached his office desk at 9.03 a.m. What time did Mr Lee leave his house?
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